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(BEAE - N)
INEZEX i 5 = &t 5 = &t
Mg 5,290 5, 655 10, 945
= 5 2,670 2,823 5,493
J\ES 2,036 2,114 4,150
HREE2K
5 1,608 1,665 3,273
F B 3, 705 3,900 71,605
5 ik 2,518 2,668 5,186 17,827 18,825 36, 652
FZE 4,599 4,763 9, 362
HREE4R
W B 1,042 1,234 14,276 11, 641 11,997 23,638
& & 76,949 81,199 158,148
HREESK | WHE 372 383 755
nmoa 1,687 1,804 3, 491 79,008| 83,386| 162,394
& i 108,476| 114,208 222,684] 108,476] 114,208 222,684
SHAF1I2ATBREOENEZAREEZREHY
(BEAT - N)
INEEX i 5 8 B 5 = &t
MR 2 3 5
= B 3 2 5
I 3 5 8
HREE2X
Mm s 0 2 2
F B 2 2 4
R 0 0 0 10 14 24
FZE 3 1 4
HREE4R
wm B 4 5 9 7 6 13
Kk [ 38 57 95
FREESK | WhE 0 0 0
noa 0 0 0 38 57 95
a8 F 55 11 132 55 11 132




